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QUESTION 1

On which two operating systems can DB2 pureScale run? (Choose two.)
A. AIX

B. Linux

C. HP-UX

D. Solaris

E. Windows

Correct Answer: AB

QUESTION 2
Which statement about value compression is correct?
A. To use value compression, you must have a license for the DB2 Storage Optimization Feature.

B. Value compression uses a page-level dictionary-based compression algorithm to compress data based on repetition
of values found in a single column.

C. Value compression involves removing duplicate entries for a value, only storing one copy, and keeping track of the
location of any references to the stored copy.

D. When value compression is used, the byte count of compressed NULLS, zeros, and blanks might be larger than that
of the uncompressed version of the same values.

Correct Answer: C

QUESTION 3

You recently added more storage to a table space and a rebalance operation was started automatically. How can you
pause the rebalance operation?

A. Set the dynamic instance registry variable UTIL_IMPACT_LIM to 0.

B. Set the dynamic instance registry variable UTIL_IMPACT_LIM to 100.

C. Issue a LIST UTILITIES statement with the WSUSPEND \\' option specified.

D. Issue an ALTER TABLESPACE statement with the \'REBALANCE SUSPEND\\' option specified.

Correct Answer: D
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QUESTION 4
What advantage do block-based buffer pools offer compared to regular buffer pools?

A. They improve the performance of sequential prefetching by reading contiguous pages from disk and writing them into
contiguous pages in a buffer pool.

B. They improve the performance of random I/O by reading non-contiguous pages from disk and writing them into near-
contiguous free space in a buffer pool.

C. They improve the performance of vectored reads by retrieving non-contiguous pages from disk, combining them into
extent-sized blocks, and writing the blocks into contiguous pages in a buffer pool.

D. They improve the performance of scattered writes by retrieving non-contiguous pages from a buffer pool, combining
them into extent-sized blocks, and writing the blocks into contiguous pages on disk.

Correct Answer: A

QUESTION 5

To configure instance-level auditing with db2audit, which authority is required?
A. SYSADM

B. SYSCTRL

C. SECADM

D. SYSMAINT

Correct Answer: A
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